1) Solve the following initial value problem (IVDP),

‘:ij =1 4 ms?(,r v), w(l) =1.
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2) Salve the Cgiation,

dy  yihiy - lar | 1)

(ll | ‘
J\! = 2 ()V\ 2 - :‘? '&J\VV\L):J()L‘LH al )
\(k
11 ol
Y oy (¥ A - X
l(”t (\); :{ d, X ¢ %" o

)
() + )"—‘-9:& = ¢l 2

(@

¢ J (* - (_{l
@ x
2 l)nlﬂ &

D l0nvl = ,valxl o+ «QV\C,

'-Qvuﬂl“—‘— G x|

dé by &
.QV\C}:'CK
Ccx 4 . et
o

W= <
(4= x <]



3) Solve the equation,
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4) If y,(x) = tanz is a solution of

y = —y®+ 3ytanz — tan’z + 1,

find the general solution,
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/ 3) Solve the equation,
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